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CHILD DEVELOPMENT AND PEDAGOGY

A student of class X scored 20%
marks in annual examination
which is less than his abilities. It
is an example for ......

(1) Both poor and low
‘achievement.

Poor achievement.

(3) Low achievement.

(4) Under achievement.
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Vygotsky's Socio-cultural theory

suggests that a child's most

important discoveries are guided by

(1) parents only.

(2) other children.

(3) adults acting as tutors.

(4) neither other children nor
adults acting as tutors.
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After teaching an initial lesson on
addition of fractions, a teacher
engages students in their first
practice session. To help the
students to master addition of
fractions, the teacher’s main role
during the first practice session
should be to ..........

reinforce the importance of
learning the skill.

check students'
understanding and provide
feedback.

challenge students to take
risks and attempt more
difficult problems.

facilitate student
collaboration and peer
review.
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"A child with good speaking skills
has very poor handwriting”. This
is suitable for explaining one of
the following concepts.

(1} Inter class differences.

(2) Inter - individual differences.
(3) Inter - personal differences.
(4) Intra individual differences.
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In order to develop the social
development among the learners,
teachers should know the ......

(1) Personal interests of the

' learniers.

(2) Physical development of the
learners. ‘

(3) Learners in all their aspects.

(4) Performance of the learners.
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Participation of the learner in the
enquiry based learning is ...

(17 active.

(2) passive.

(3) either passive or active.

(4) dependent.
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Non-verbal intelligence test can

be used for ......

(1) all irrespective of age.
(2) illiterates only.

(3} children only.

(4) literates and illiterates.
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The correct statement among the
following in relation to memory
is ......
Recognition is exactly double
of recall.

Recall is greater than
recognition.

Recognition is greater than
recall.

Recall and Recognition are
equal.
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The Right of children to Free and
Compulsory Education Act, 2009
is applicable to the ....

(1) whole of India except the
State of Kerala.

whole of India.

whole of India except Union
Territories.

whole of India except the
State of Jammu & Kashmir.
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10. A class room teacher is interested

11.

to study "the influence of the
study habits of the children on
their achievement". In this study
"achievement of the children”1s ...,
(1) Dual variable

(2) Interference variable

(3) Independent variable

(4) Dependent variable
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An example of classical
conditioning is .......

(1) Dogs learn helplessness from
electric shocks.

Rat presses lever for delivery
of food.

Dog learns to salivate on
hearing bell.

Pigeon peeps at key for food
delivery.
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12. A student of class VI is not able to

decide between continuing or
leaving the studies because the play
and friends at school are attractive
but teachers are not. The type of
conflict the student is facing is .....
(1) Acceptance - Rejection

(2) Approach - Approach

{3) Approach - Avoidance

(4) Avoidance - Avoidance
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13. A student of class VIII got

habituated to study only to gain

reward. This is an example for ...

(1) Operant conditioning theory.

(2) S-R conditioning theory.

(3) R-S conditioning theory.

(4} Both S-R & R-S conditioning
theories.
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14, The period of development during

15.

which the child is in the dilemma
of being a child or an adult. ......
(1) Adulthood

(2) Late childhood

(8) Adolescence

(4) Early childhood
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According to the National

Curriculum  Framework-2005,

teaching is for .....

(1) Making child achieve above
its abilities.

(2) Construction of knowledge.

(3) Preparing the students for
examination.

(4) Providing the right
knowledge to the students.
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17.

Self-paced learning is possible in ...
(1) Activity based learning

(2) Programmed instruction

(3) Whole class teaching

(4) Teaching in small groups
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Aptitude of a child in
Mathematics and its general
intelligence are very high, but its
level of aspiration with regard to
achievement is low.

The possibility of achievement in
Mathematics of the child in
relation to his abilities will be ......
{1) Unpredictable

(2) Low
(3) High
(4) Average
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18. When teaching children frem non-

English speaking families, it is

correct to agsume that ...

(1) Linguistically different
children are educationally
delayed.

(2) Children will give up their
previous language/culture m
order to adopt that of the
new.

(3) Proficiency in one language
can help in learning a
second, so language skills
will improve if children are
encouraged to be bilingual.

(4) Nothing is lost when the
child's language and culture
are not reinforced at school
because they will be
maintained at home.
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19. Before taking up teaching there is (4) Children use fewer

a need to take up ........... generalizations, categories
. d principles.
{1} Assessment for learning. and principies

(2) Continuous and HErERL es6' S ¥od bow
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comprehensive evaluation.
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20. When we say a child's thinking is BGeBrPeEo, BrErere
less abstract than an adult’s, we SHAPATE.
mean that .....

(1) Adults base their
understanding of the world
more on particular examples
and tangible sensations.

(2) Children use more examples
and generalizations.

(3) Children use more
principles, but require fewer
generalizations.
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One of the following statements is
true with regard to the memory
and learning.

{1) Learning is dependent only
on mermory.

(2) Memory is hereditary and
learning is related to
environment.

(3) Memory and learning are
interrelated.

(4) Each of it can happen in the
absence of the other.
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Cause of learning disability .....

(1) Lack of knowledge among
teachers and  teacher
educators.

(2) Organic and environmental
factors.
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(3) Poor teaching and teaching
aids.

(4) Low mental ability.
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One of the following is essential
for learning skills under the
psycho-motor domain :

(1) Practice
(2) Creativity

(3) Reward
(4) High level of intellectual
capacity.
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24, A

student of class I who is
punished by a teacher, develops
fear towards all teachers. This is
an example of ........

(1) Social learning theory

(2) Conditioning theory

(3) Gestalt theory

(4) Cognitive theory
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This type of environment is

suitable for emotional 27.
development of children ..........
(1) Indifferent
(2) Dominant
(8) Accommodative
(4) Permissive
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26. Positive attitude among the High

School students towards learning

(1) can be inculcated uniformly.
(2) can be inculcated.

{3) cannot be inculcated as they
are already grown up.

(4) 1is constant.
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According to DPiaget, "object
permanence’ takes place during
the period of .......

(1) Formal operational.

(2) Sensory motor.

(3) Pre-operational.

(4) Concrete operational.
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28. Traditional

way of teaching

grammar was opposed by ......

(1)
(2)
3
(4)

Thorndike
Paviov
Skinner
Chomsky
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29. One of the following is not the
main purpose of teaching :

(1)

(2)
(3)
(4)

Creating awareness among
students.

Construction of knowledge.
Understanding the learner.
Making the children
understand various
concepts.
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30. One of the following is innate :

(1)
(2)
(3)
4)

Motivation
Interest
Aptitude
Attitude
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LANGUAGE I - TELUGU
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Language II - English

Read the following passage
carefully and answer the
questions given below it.

Florence Nightingale was
born in Florence, Italy, in 1820
(and hence her first name). The
Nightingales were an aristocratic
family. Her father, William
Nightingale, was a very wealthy
landlord. Her mother, Fanny
Nightingale, loved elegant dresses
and parties.

Florence was different. Not
for her parties and silks and laces.
Not for her life of wealth and ease.
That was a useless life ! At 17 she
announced that she had received a
call. “God spoke to me and called
me to his service”, she said. Her
parents were puzzled.

This turned to dismay when
she said that the ‘service’ was to
nurse the sick, as working as a
nurse was considered lowly in
those days. Her mother was
heartbroken, but she got her
father’s blessings and Florence
began working in hospitals.
Florence provided the best service
to her patients. Her work got
noticed and the beautiful lady led
a band of women volunteers to
Crimea in 1854.

TET-211-EM/TM -
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61.

62.

63.

‘The Nightingales
aristocratic family.’

were ar

It means that Nightingale’s

parents were .....

(1) extravagant

(2) poor
(3) arrogant
(4) noble

To work in hospitals, Florence
Nightingale got the blessings from

(1) the patients
(2) her father

(3) her mother
{4) the volunteers

‘That was a useless life.
That life was useless for ......
(1) the nurses.

(2) the Nightingales.

(3) the citizens of Italy.

(4) Florence Nightingale.




64.

65.

66.
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God asked Nightingale to serve

(1} aristocratic families.
(2) Him through prayers.
(3) the sick.

(4} her parents.

Florence Nightingale’s mother

was heartbroken hecause

Nightingale .....

(1) was fond of her parties, silks
and laces.

(2) decided to work as a nurse.
(3) rejected her father’s advice.

(4) chose to lead aristocratic hife.

‘Helen is the most beautiful
woman in the world’.

The comparative form of the given
sentence 1s ......

(1) .Helen is more beautiful than

many other women in the
world.

(2) Helen is more heautiful than
most other women in the
world.

(3) Helen is more beautiful than
very few women in the
world.

(4) Helen is more beautiful than

any other woman in the
world.

67.

68.

69.

(197,
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‘Devi looked at the moon.’

The phrase ‘look at’ means ........
(1) tosee

{2) to examine

(3) to investigate

{4) to take care of

‘This is an interesting story’. To
get the opposite of the word
‘interesting’, we use the prefix

(1) un
(2) dis
(3y in

(4) il

‘Raju plays cricket. He plays chess
also.” The given gentences can be
combined and expressed as .......

(1) Raju doesn’'t play either
cricket or chess.

(2) Raju plays cricket but not
chess.

(3) Raju plays chess but not
cricket.

{4) Raju plays not only cricket
hut also chess.

PT.O.
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71.

72,

73.
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Find the correct sentence that

contains the words ‘birds,

distances, fly, long, migrating.’

(1) Migrating birds fly distances
long.

{2) Birds fly long migrating
distances.

(3) Migrating birds fly long
distances.

(4) Birds fly migrating long
distances.

Identify the correctly spelt word.
(1) champyen
(2) champian
(3) champien
(4) champion

“I should be here ........ the stroke
of five,” Venu said.

Choose the correct preposition to
fill in the given blank.

(1) by
(2) in
(3) at
(4) on
‘My father ... (drink) tea

evervday’. Choose the correct
form of the verb given in the
brackets to fill in the given blank.

(1) is drinking

(2) drink
(3) drinks
(4) drank

[20]
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75.

76.
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‘Madhavi is very hospitable’. It
means that Madhavi is ....

(1) bedridden.

(2) in a hospital.

(3) friendly.

(4) fearful.

‘T am very lucky, ..... »

Select the appropriate question
tag to be used in the given blank.

(1) amn’tl
(2) aren’t]
8) aml
(4) isn'tit

‘My sister has ........... (paint) the
wall.’” Choose the correct form of
the verb given in the brackets to
fill in the given blank.

(1) painting

(2) paint

(3) pamts

(4) painted

‘Dolphins look like fish, ...... they
are not fish.’

Choose the correct word to fill in
the given blank.

(1) but
(2) and
(3) or
{4) then



78.

79.

80.
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‘Lalitha used to take a slate to
school’. It means that .....

(1) Lalitha has been taking a
slate to school.

(2) Lalitha doesn’t take a slate
to school now.

(3) Lalitha takes a slate to
school.

(4} Lalitha is taking a slate to
school.

In writing a letter, an appropriate
way of writing subscription is ......

(1) yours sincerely,
(2) Yours sincerely,
(3) Yours Sincerely,

(4) yours Sincerely,

Sheela said, “I am learning
Russian language.”

The reported form of the given
sentence is ..........

(1) Sheela said that she learnt
Russian language.

(2) Sheela said that she was
learning Russian language.

{3) Sheela said that she is
learning Russian language.

(4) Sheela said that she has been
learning Russian language.

.

81-84.

81.

82,

83.

[21]
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In the following passage
there are blanks which have been
numbered from 81-84.

Below the passage against
these numbers, a choice of four
words / phrases marked 1, 2, 3, 4
is given, one of which fits the
blank appropriately. Choose the
correct answers,

‘Birds (81) different-shaped
feet to suit their way of life. Birds
that perch _(82) branches have
toes that curl round the branch to
give a tight grip. The grip is so
tight that the bird _(83) fall of,
even when it goes to sleep. Some
birds find their food in the
ground. Their short, blue toes are
like rakes. They scratch the
ground to turn up insects and
seeds. Birds such as ducks, geese
and swans have feet like paddles
to help them _{84) in the water.’

(1) are

(2) has

(3) had

{4} Thave
(1) on

(2) in

(3) under
(4} above
{1) hasn’t
(2) didn’t
(3) doesn’t
(4) haven't

PT.O.
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85.

86.
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(1) swum
(2) swim
(3) swims
{4) swam
In an Overhead projector , a

teacher makes use of .........
(1) 3D objects.

(2) Transparencies.

{3) Power-point CDs.

(4) Puppets.

‘India is a multilingual country.

English continued as a language

of administration, judiciary and

medium of instruction in the

universities.’

This aspect implies that ..........

(1) English is a link language in
India.

(2) English is a
language.

(3) English is a language of
opportunity.

(4) English is an International
language.

library

Change of stress from the first
syllable to the second as in,
‘conduc-con’duct, changes the

(1) from Adjective to Noun.
{2) from Verb to Noun.
(3) from Noun to Verb.
(4> from Noun to Adjective

88.

89.

90'

[22]
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Searching for specific information
in a dictionary, a telephone
directory is an example for ......

(1) Extensive reading
(2) Scanning

(3} Skimming

(4) Reading aloud

The teacher makes use of prefixes
and suffixes to teach ......

(1) Word meaning.
{(2) Sentence formation.
(3) Word formation.

(4) Sentence meaning.

“The teacher gives the meanings
of difficult words in the pupil’s
mother tongue.’

This is a principle involved in ......
(1) The Reading Method of
Dr. West.

(2) The Grammar-translation
Method.

(3) The Direct Method.
(4) The Bilingual Method.

|



91. If J5=2236, then the value of

92,
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PART - IV(a)
MATHEMATICS & SCIENCE

100
125 °

V5 =2236 :6—}9—0—3 S
= 4 ZD0AS JES_ 220,

6.482
12.642
8.944

(4) 10.534

A car travelled 4 km. less than twice
the distance travelled by abusin 1
hour. If the car travelled 28 km. in
1 hour, the distance travelled by the
businkm.is..........

28 Koerd® wihyy HAT3odd Sroeld
DI Bp 4 3,00, B G0 28 T
(P redolod. & G0 u¥ Koerd®
28 8.5, @oiredeolnd wity pairtloUs
s59%0 8.0, o8t ...

(1) 17
(2)
(3)

(4)

14
15
16

TET-211-EM/fM:
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In the following, the set of points
that lie on X-axisis ..........

308 & X~ eso pife Dotioye Baed

----------

(1) {(-1,0),(2, 03}

(2) {(1, 1,2, 3}
(3) {{-1,1),(-3,2)}
(4) {(0, -1}, (G, 2)}

If x +y =5, xy = 12, then the value
of x* + 3% is

x+y=05, xy = 12 wood

---------

() -53

(2y 62
(3) 42

(4y 172

PT.0.




95.

96.
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The number that should be
multiplied with (-4)72 to get a
product of 1007 is ..........

(—4)2 20 B roedd W ogin

1007 eoss e DOy rreseenn:

(1 -—

(2) —
5

(3) n

4) =

The G.C.D. of two numbers is 21
and the first 3 quotients obtained
in the division are 1, 4, 5. The
numbers are ..........

Botis ome G.C.D. 21. ¢PRsssins’
Iy BoSed DaTrds PriiPoBoen HLOT
1,4, 5 e005@ ¢ Sogpg@d v

{1) 6239, 7684
(2) 441, 546

(3) 1632, 1088
(4) 1728, 1632

BOOKLET @
97. Thevalueofl

[(17-(5-6-5)}+1]-6 is ...

(3) 16

(4) 24

98, If 4x- =6, then 162+ —
x 4x

4:;:-i =6 wood 16x° +~—1-—
2x 4x°

DO wannennnns
(1) 60
(2) 20
(3) 30

(4) 40

[24]




99. There is a square with side 150 m.
There 1s a rectangle whose
perimeter is equal to the perimeter
of this square. If its length ig 180m.
then the ratio of their areasis.....

150 2o, ghmo ¥o BHSPo sob. &2
0wy SPwB RN Soy Sedle
&5 vEatide dod. v iRy 180 .
0D P DT BPD wereenenne

(1) 7:9

(2) 12:13

(3) 25:24

(4) 3:8

100. In a Pie diagram, degree of any
component part is...........

Total value
360°
Total value

E;nbonent value

x Component value,

x 360°

Component value

360°
Component value
) "Fotal value
538 Sar DBB0d® wosHas Deonde
B3OS §%00800 cenveenre

x Total value,

x 360°

0O DOV

W e
BT O

EICRO B0

K e0ds J0ow

(2} . 360°

L30B0 DR

X Do doow

BOES DI

(4) mx 360°

TET-211-EM/TM
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101. IfA = 2¢* + 3« -2x - 1,
B =4x®-6x%-4x + 8,
C=3x"-2¢2-3x + 3, then
A-B+Cis......

A=2c%+8x%-2¢-1,
B = 4x®-62x? - 4x + 8,
C = 3x° - 2% - 3x + 3 wony,
A-B+4+C Devdaunnnnnne.

() 23+ 7x*-9x-6
(2) x°-Txf+9x + 6
(3) 2+ 7x*+9x -6
(4) ®-7%-9x+6

102. Four carrom board strikers, each of
radius 7 cm. are so arranged that
each striker touches at least two
other strikers. The area of the
empty space between the strikers is
(insq.cm.) ..........

7 0.0, TErFan SORD Taok TGS
5% (3B 650 283 ¥h¥0 Todoud
BAGe elolys TR Bogdieo PP Ro
TOE0 W H0.D0. 08 ...

(1) 35

(2) 42

(3 21

(4) 105

P.T.O.




103.

104.

In a class there are 96 girls. Due to
rain 12 of them did not attend the
school. The percentage of girls
attended is ......

25 BONDE’ 96 500 wrBuo S, W0
S5 12 Hoob ePdien SrETeN TVBED.
5005 1rO%e it TSR ...

(1) 587

(2) 85.7
{3) 875
(4) 785

Mahasamudramu is a number in
which 1 is followed by these many
number of zeros.

Soarisoolnoe e Sopyd® 1 B

56

54

TET-211-EM/TM
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qu formof 0-345 is.......

0-345 ms‘bf BOPRTR vennrenees

27

@) 55

19

(2) 55

345

3) 1000

21

(4) 200

Certain amount of money is
divided between Anil and Sunil in

4 3
the ratio 25 : 31 . If Sunil gets

Rs. 187 more, then Anil’s share in
Rupees is....

Fod g @dd Bobain wdbws
4 ,3
27 32 2i588° vomSm wdb

So. 187 5o 20y, wld o), omer
BFPODOEE e

{1)
(2)
(3)
{(4)

408
595
346
625
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107.

108,

2
The sum of two fractions is 4—.

3
a1
If one of them is 35 , then the
other fraction js ......
2
Dotk PIm IBHw 45. 2oty 2.¥
1
P 35 €500k $B™E DR wuerenens
1
4__
(1) 5
1
9
(2) 4
1
3=
(3) 5
1
1=
(4) 8

Three angles of a 7 sided polygon
are 132° each and the remaining
four angles are equal. The value of
each equal angle in degrees is

7 goudooow v wirogord G2, 3
Semen 2.8715,03 132° . o 4 Seasoen
SR, oo oo 157, St Desd
&les®

(1) 142
(2}
(3

(4}

160
126
135

TRT211.FM/TM
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A student secured 122 marks in a
test but his score is 13 marks less
than the pass mark.

If the minimum pass
percentage is 36%, the maximum
marks of the test are

.....

o5 Jorg08 ok BOEE® 122wty
SO, TV R I SUNebS 36%
5 13 S08,00 Bran. wood o Y

(4) 175

From a circular sheet of paper a
strip of 7 cm. wide is removed all
along its border. If the area of this
strip is 2310 sq.cms., the percentage
of the area of 'the strip removed
approximatelyis..........

2.5 SyErees RGO Mol 7 Bo.0. Box
Ko 050 oo wotw dowd SHBoWS.
TABo 285 PTowe 2310 B, De.w.
WOy ¥Q0ond HIE JFe; TIBEN
(1) 16.25
(2) 20.56
(3) 14.88

(4) 23.44

PT.O.
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111. The area of an equilateral triangle | 113, The lateral surface area of a cuboid

is 14443 sq. cms. The height of whose length, breadth and height
are 6 m, 5 m and 3 m respectively is

the triangleis ..........
- 1) 66sqg.m.
28 SN0 (Dghe DT 14443 ( - m
5. 20.00. @0 @ SEoEHN I8 ... (2) 166sq. m.
(1) 12V3 (3) 1660 sq. m.
(2) 25V3 (4) 990 sq. m.
(3) 643 28 B8 PovEn P, oo, Hges
(4) 1643 DG 6 Do, 5 o, 3 L. w0 oo
B, BO ITIORX cwnreain
112, The perpendicular drawn from any (1) 66 . 2.
one of the vertices of a triangle to
its opposite side s .......... (2) 186 . do.
(1) Centroid (3) 1660 ©. do.
(2} Median (4) 990 3. b,
(3) Altitude
(4) Chord 114. Factors for (Sx6 —9xt + 1) are ...

@dor Aped® DOD LE wod ol

6 _ gad
IS0 Poznd Achindd comba & (Sx Jx +1) Q08 ST ..

(1) c2a+1) @x2-2¢+1)

(1) Koot Sogi (@) (=1) (+a+1) Qa-1) (4x2+2x+1)

0 .
(2) mobgiens 3) (P +x+1) @+2x+1)

ko :
8 = (4) (x+1) 2 +x+1) Cx+1) (de®+2x+1)
(4) )

TET-211-EM/TM [28]




115.

116.

P
TET-21 1-EM@E\
2y /]

Ip the given numbers,
Ramanujan's number is ........

G 3el gl :603:59.:55 Tmend

1729
1718

(3) 1709

(4) 1739

'Learning by doing' is the concept
of the following .....

(1)
(2)
{3)

Laboratory method
Demonstration method
Analytical method

(4) Lecture method

Hotaoes PO DENTERoe! eGP
B3 BowaRolDs.

(1) @@ %58

(2) (e DEs
(3) oFne™ 959

4

ERIG éc‘g@

117,

118.

[29]
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"Characteristic of simplicity”
relates to the following ...

(L)
(2}
(3)
(4)
BRUY BprRd ol ofmw §efed
T8 DowohHoldd,

Moral value
Practical value
Cultural value
Disciplinary value

(1) 2% deod

(2} @Wé&g RIS

(3)  roiy, O deod

(4)  (E0ErPEE Jaod

The evaluation card which
assesses the standard of the text
book is ...

{1) Sampson's score card

(2) Hunter's score card

(3) Anderson's score card

(4) Peterson's score card

JEg oSt GBNE, EEIIED
(Topagoin) wOUT Dok BaPeROED
Fodyey B0 =6

rowssy 6 b

esctilyoy 6 =5

20ty 5y 6 =5

(1)
(2)
(3)
{4)

PT.O.
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120.
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The objective that comes under
cognitive domain is .....

(1) Imitation

(2) Application

(3) * Organisation

(4) Manipulation

LGS Soliud® Jowolown

oF §

(1) esdostesios
(2)  2IAFRH®
(8) a@Iyvvoe
(4)

STRTREN0

One of the following is not the
characteristic of gifted children....
(1) Have broad attention.

{2) Frequently asks profound
questions,

Learning centres around the
text books.

Prefers to think on higher
levels of abstraction.

B+ (308 TG TS BATHBDH
Do wFriHn .

(1)
(2)

3

(4)

37w wBgvo SO dowrto.
BEB0 SEWTEERD Foe
.

oS PEITOR
308580508 &oeod.

SR o oy e e
PTBBATE.

(3)

(4)

121.

122,

[30]
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The constant temperature &t
which a liquid substance gets
converted into gaseous state is
called ......

(1) freezing point.

(2) lower fixed point.

{3) boiling point .

(4) melting point.

0 U &G G w¥ GD oo e,

200 Fototoed o &S o Wso

(1)
(2)
(3
(4)

Raju could hear the echo of his
clap from a hill in front of him
after 3 seconds of his clapping.
The distance between him and the -
hill, assuming the wvelocity of
sound in air to be 320 m/sec is.....
(1) 480m

(2) 960m

{3} 320m

(4) 3m

oo 2.5 5Toli Hoborr Jeoed Bt
DU 3 vEC HOGWG e DPypdo
BOGPV Tamzs, wdES g Je 320
Do, /om0 wnfiyd oods, Pouw

DoNgIH PN
iz RO Foneo.
B B0

(Il ST
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124. The

123. Consider 3 magnets - A, B, C are
one of the poles of each of the
magnets. A, B get attracted and
A, C get repelled. Then the
following statement is true .......
{1) A, C are like and B, C are
like.

(2) A, B are unlike and B, C are
unlike.

(3) A, B are unlike and B, C are
like.

(4) A, B are like and B, C are
unlike. 125.

ot DD woha)ooren PR,

A, B, C oo T30, o587, Hveo.

A, B &0 D550 es50owotTnoos.

A, C 20 D5Potnimom. edrotiines

B0 TRE° b TED

(1) A, C oo oerd GHres 200w
B, C oo 3uwrd gyen.

(2) A, B o 2en8 e wodcis
B, C oo 28 {Haren.

(3) A, B oo derd Hiveo Ha0ai
B, C oo 38 Hareo.

(4) A, B oo %ed Hmreo $obas
B, C o 228 Ghyaveo,

{31}
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molecular formula for

Ammonium Phosphate is ......

BRI FFapes e FERT° ...

(1) NH,PO,

(2) NH3(PO,),

(3) (NH,),PO,

(4) NH,PO,

The apparatus used to transfer a
fixed volume of liqud from the
source accurately to another
container is ........

(1)
(2)
(3)
(4)

Pipette
Measuring jar
Measuring flask
Burette

DO PN VOSTEIDN o BHHOD
OB .8 FEB wod DEY FHS03
BRUNeR Tk WOUSER ...

( 1) 3)3)3&)3
(2) Somd
(3) Sodb,

(4) 2Py

PT.O.



126. In a Bramah press other things

e am e e BN

remaining constant if the cross-
section of large piston is doubled,
then the thrust on it ...

(1) is raised by 4 times.
(2) will remain the same.
(8) is halved.
(4} 1is doubled.

EPRERREt B85 wohooly bomw
Gpdyptss DY BOROYSBM VoG-S
2T DgoR) BandS oD BDA

(1)
(2)
(3) RESoBood.

(4)

127.

128.

roum
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'm' gms of Carbon reacts
completely with '»’ gms of Oxygen
to produce Carbon dioxide. The
mass of Oxygen required to react
with 'm' gms of Carbon completely
and produce Carbon-monoxide is..

n
(1) o gms
(2) m gms
(8) ngms
m
(4) 5 gms

'moase SEREw R rHe
2288 o™ BETed FoHN @
&3 D0 dEGBDoBe. wod  'm
roxe ¥oynnE Yram 85T

TE®  DPTI N A B0eE
HITHAND Wiz ST ...

n -
(2) m [rdosen
(3) n grdow

m
) o

The gas liberated on heating Zinc
Carbonate is

o8 TUeaiss DD Devdths

(1)
(2)
(3
(4)



129.

130.

The first artificial satellite

launched by India is ......
(1) Bhaskara

(2) APPLE

(3) Arya Bhatta

(4) Rohini

EPEHEB0 HRPAoID &' ¥y®hs
&S

{1) %Pébﬁ

(2) APPLE

(3)  estsiiey

(4) &ured

The emblem of a TV channel is
displayed at the left hand top
corner of the screen. When Raju is
seeing the image of the TV in a
mirror the emblem appears at ....

(1) left hand bottom corner.
(2) right hand top corner.

{3) left hand top corner,

(4) rnight hand bottom corner.

2 3.0, F6 ogs Eye e B0
D BoPUd HEGOTL. w8 wied
&8 63.0.0 Trgiyiyts eBdd & o8
BUP EIDOD JEo ..,

(1) diso 38 308 ware

(2) %430 sro

(3) s 3O p wore

(4) %8 56 300 dure

T

TR

131.

132,

e
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The shape of the body which is
always in stable equilibrium,
irrespective of the position it is
placed, is ......

(1) Cube

(2 Cone

(3) Cylinder

(4) Sphere

QD DPOI® WeDNHd Jenmis U
VipSs® Gol B By, @Tdo ...
(1) Hhepode

(2) ‘doavRp

(8) wyse

(4) %o

Electrochemical effect is used in ...
(1) Telegraph

(2) Electric motors

(3) Electric stove

(4) Purification of metals

D550 08 (HES DICIPIHRHE

28 sy ... ...
(1) =OH

(2)  Dibod APt
(3)  Dogd Sroo

{4) &oseto B0 Satoe

_;:“(:'0

PT.O.
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133. One of the following is not the | 135. Alternation of generation is seen

correct pair ..... in the life history of .......
(1) Chiorophyll - Conversion of (1) Frog
CNErgy- (2) Selaginella

(2) Chromoplast - Colourless.
(3 Young tomatoes - Leucoplast.
(4) Green chilli - Chloroplast.

51 Boamud’ e85 HOCID 2B TS

(3) Chlamydomonas
(4) Mosquito
Qo o’ B £05 SO

(1) $5%6 - 58 5red BRESR

@) 32§ - By S E; =
BT

3) B8 enrer - erEPD .

(3) LT - oSl ) @ oo <

(4) %y DbbTaer - ST @ S

134. A plant has bisexual flowers. You
want to cross pollinate those
flowers. You have to .....

(1) remove both Androectum
and Gynoecium. (1) Bones
(2) remove Calyx.
(3) remove Corolla.
(4) remove either Gynoectum or {3) Fossils
Androecium. 4) Fuels
2.5 200%), OP0K Do EDACIRH0.
Te3E® BESTH BBt 2EMOREEDE

136. The evidences of extinet animals
left on earth that are useful in
‘Evolution of life' are .........

(2} Foot prints

&5 SOePRMD3 SSAINNG IR0
SSondy Kdods SHw edide

D) wevens

(1) wousiad) Dodakn SBoHodd JEOFTLD e
Feopowd. (1) Sooken

(2) &5y BEeRdd Fohowd. (2) S;EHoEes

(3)  essPs BN Sofomd, (3) 3oeren

(4)  eouSiyed, DY Sowdd 4) moiwes
Fofowrd,

Tr211-EM{TW ) (34]
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137. Medicine for

138.

TET-21 1-EM@

. dog bite was
discovered by ......

(1) Edward Jenner

(2) Louis Pasteur

(3) Robert Koch

(4) Alexander Fleming

oy, TR0 Ho0ed FRTDN T oo
(1) Deib @b

(2)  eoom 50

(3) o %5

(4) edpoud pooh

Suppose a student of 8th class
complains that he has ear-ache,
fever and pain in opening mouth.
As a biology teacher, you identify
the disease as ........

(1> Pertusig

(2) Rubella

(3) Mumps

(4) Malaria

DIWED BOKD oY WL BIXO
0Ty, wEw, T B Kgdam™
E5,80 ObdESSTeE, SdTR
SRR N HoBodd TH ...
(1) Soop oy

(2)  Buyg/ ok

(3) s Do

{4) Sdoasr

[35]
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139. Identify the right food chain.

(1) Calotes - Eagle — Snake.
(2) Carnivores - Herbivores

— Plants.
(3) Plants — Insects — Calotes.
(4) Plants <> Goat ¢ Tiger.

SORD eI Rendoy Mholod.

(1) &ofi - g - o

(2)  BororTtbes — TEmItow
= e

(3) Doagen - duver —» Fois

(4) Doomo © 28 o Hd

140. The order of stages in tissue

culture is .........
(1) Explant, Callus, Plant,
New Plant.
(2) Callus, Plant, New Plant,
Explant.
(3) Plant, Explant, Callus,
New Plant.
(4) New Plant, Plant, Callus,
Explant.

Soaepe BOREROS D IDG S NS
(1) 2y Sross, wab, 2025,

57 R,
(2)  mob, Ik, £ 2wy,

NS 3:05
(3) D%y, A5y Jois, seoh,

§% %,
(4) 5% ox), ook, T,

35 o
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» The human dental formula is

. In the balanced diet pyramid, as

we go up from the base, the fourth
place is occupied by

(1} Vitamins

(2) Proteins
3)

(4)

Fibre
Minerals

Biogoeg eiris BELE Soko wprsgrNo
Sood 8 FPIPEe T FTy
SEDITID

.......

Desadaraos

'y

(2)

SroBE)Ees
@) b

(4} e oheres

BFSHD Lo BRBR ...
(1) 1/1, 2/2, 3/3, 2/2
(2)
(3

(4)

9/2, 1/1, 2/2, 8/3
2/2, 2/2, 3/3, 3/3
171, 8/3, 2/2, 242

.‘-211-EM@\,

F

143.

144'

[36)
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A scientist has selected single
celled organisms that can live
even in acidic medium like HCI for
his experiment. They belong to
the Kingdom
{1) Animalia
(2) Plantae
(3) Monera
(4) Protista

&5 TR B $05%5v0 S HCl B0l
wPy SrEEoos’ Krar Anbowndi
DEER HHody ISRERB. ol B
Tragd Dodisdo,

(1) DFDedasr

(2} o

(3) oo

@) S

Most of the disease spreading
animals without notochord belong
to phylum
(1) Arthropoda

(2) Protozoa

(3) Nematyhelminthes

(4) Mammalia

oot Do pod &I
Tpoomo TPy W meolpue IR
Tt HTIE Dotioeran.

(1)
(2}
(3)

(4)

es@@‘c:“
et
NERA PN
Do



145.

146.

27N,
TET-211-EM{Tor, )

This provides quantitative as well
as qualitative description of the
outcomes of feaching-learning

process.
(1) Testing

(2) Measurement
{3) Evaluation
(4) Examination

Sggsn BEand’ 30 Kerss
D000y BERFrFGE POTPY Jdrivs
Fapoh.

(1) %8z oo

(2) BoSoew

(3) Darero¥nm

(4) »8Y

In Bloom's Taxonomy of
Educational Objectives, the

specification "Translation' belongs
to the objective ........ '

(1) Application

{2) Analysis

(3) Synthesis

(4) Comprehension

wrEoy Do wf ghove BRI’
eRaTS0! eX0 LETen 4

of sﬁ.ﬁ»‘éﬁa pel=thiaT ot Al

(1) DOBFHB
(2) ¥3ues
(3) BoBde

-

(4)  esdmoEs

S

147.

148,

[37]
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The information that need not be
given in a laboratory instruction
card is .........

{1) who has to do the
experiment.

the purpose of the
equipment.

(3} the method to be adopted.
(4) precautions to be observed.

EESIIFYS BIIRE Jddoonoiy
DOEDRDHTO B DHTTPERD -

(2}

(1) s HArm Dasdte.

(2) nOsTe HAFESO.

(3) PN Ddiv B53.

(4) edondonneds iden.

In Edger Dale's cone of
experiences, the learning

experiences are arranged in the
order of (taking the start point
from the base of the cone) .....

(1) decreasing abstractness.

(2) increasing abstractness.

(3) increasing expenditure.

{4) increasing concreteness.
b 6 @l YoarmogTed,
PRI B DD Eweed’
eSBIHRET0R,

(1) enRargs S

(2)  oBargs ;unse

(3) 950 Jeinse

(4)  Borys dlnte

PT.O.



149. The method of teaching that

makes the students to look at
knowledge as a whole is .......

(1) Project method

(2) Lecture method

(3) Demonstration method
(4) Discussion method

2R 90y DO B0 Dodrodo

(8) g vEe

(4) voo) 568
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150. An ancient, convenient and

inexpensive method of teaching
that is suitable for teaching
almost all the subjects of school
curriculum is ......

(1) Lecture method

(2) Demonstration method

(3) Source method

(4) Story-telling method

Fe 505 omnd’ oo 0l dphe
SE5%, SAY oBIRNg,
SREPEAHE WO PN e

(4) SEeNE0 BES

I‘ET—211-E
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